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(3x-1)2  x+3 2-7x
1. 3 +T>3x(x—1)— 2

4(3x—1)24+2(x+3)—-36x(x—1)+3(Q2—7x)
7 >0

4(9x?2—6x+1)+2x+6—-36x2+36x+6—-21x>0
36x>—24x+4+2x+6—-36x*>+36x+6—-21x>0

16
—7x > —16 x < -

1-2x 1 1 X
2. 3 +E<2X+E(1—E)+8
x
2(1—2x)+3<12x+2(1—§)+48
2—4x+3<12x+2—x+48
—15x < 45 x> -3
3. L >p- 32t
x-3 x-3
4—-2(x—-3)+5x—4 4—-2x+6+5x—4
>0 >
x—3 x—3
3X+6>0 N=>0: 3x+6=>0 x> -2
x—3 D>0: x—3>0 x>3
=2 3
N - + +
D - - +
+ - +
x<-2 Vv x>3
PR
1-x 7 x-1
4x 2 4x+2+2(1—x) 4x+2+2—-2x
> — -2 >0 _
1—x 1—x 1—x 1—x
2x+4>0 N>0: 2x+4>0 x> -2
1—x D>0: 1—-x>0 x<1
-2 1
N - + +
D + + -
— + j—
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3x-1 6x—2 3x-1 1
- + >x—=
9 6 6 3

{(x+3)(x—2)<(x+1)2+1

{ x> —2x+3x—6<x*+2x+1+1
2Bx—1)—3(6x—2)+3Bx—-1)>18x—6

{ —x <8
6x—2—-18x+6+9x—3>18x—6

x> —8
{ x> —8 1
—21x > -7 x<§

-8<x< -

(2x—1)?2<2Qx+1)(x—3)
x-DEx+1D)>2+x2-2x-1)

{4x2—4x+1<2(2x2—6x+x—3)
x2—1>2+x%2—-2x+2

{4x2—4x+1<4x2—12x+2x—6
2x >5

Ax€ER
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x%-5x+6

7. WSO
N; = 0: x=2
(x—Z)(x—3)<0 N, > 0: x>3
x—Dx+1)~ D; > 0: x>1
D, > 0: x> -1
-1 1 2 3
N; - - — + +
N, - - - - +
D, - - + + +
D, - + + + +
+ - + - +
-1<x<1 Vv 2<x<3
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8. (x—2a)(x+2a)+1—x%2>3(1-a?) —2ax

x*>—4a*+1—x%>3—3a% - 2ax

2ax > a® + 2
a?+2
Sea>0 x>
2a
Sea=0 ZAx€eER
a’+2
Sea<0 x <
2a

(x+a)?—-b?><(x+b)(x—b)—a?

x% 4+ 2ax + a® — b? < x? — b? — @?

2ax < —2a?
Sea>0 x<-—a
Sea=0 VxeR

Sea<0 xX=-—a

Disequazioni lineari



